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No. | HETH 3 R E R B2 mems B AR =B (thsk - 4BBD T 1918H) fhE
5@ %16 5@ %16 5@ %16@E
RERR | AERE | AERE | HEHE | FERE | AnrE
50cm 0.10 0.11 0.09 0.11 0.10 0.09
121|Z&0H  |REE-RELVI— |ZTARTERRESE 7H25H
1m 0.10 0.11 0.08 0.10 0.09 0.09
50cm 0.10 0.09 0.09 0.08 =
- = = - - PN [Euth AD L %] No.128EDFHUSTEEA
122| ZKH | REfE-RELVS— | ZARHZANRRBREL 2— 78248
a = = a SRR 1m 0.09 0.08 0.09 0.07 [ERES] ®L
) X ) 50cm 0.13 0.12 0.07 0.08
123| ZAmH  |WER&RRESSD HHETI7T 78298 [EREE] &L
1m 0.12 0.12 0.08 0.08
. X N ) 50cm 0.12 0.12 0.10 0.09
124 ZAWH |WERERRESSD ESh>FU35T 7A25H [EREE] &L
1m 0.12 0.11 0.10 0.10
. ) 50cm 0.16 0.17 0.08 0.07
125| =A™ |MERRRESST Th&LIST 78298 [EEE] &L
1m 0.16 0.16 0.07 0.06
i ) 50cm 0.12 0.12 0.07 0.07 0.11 0.11
126| AT |HMERERRESST HEHIELEE 7H298
1m 0.11 0.12 0.07 0.07 0.10 0.10
) ) X 50cm 0.07 0.09 0.06 0.07 0.08 0.08
127|Z4#wH |[RERERRESST EALSYDST 7R248
1m 0.08 0.09 0.06 0.07 0.08 0.08
i . 50cm 0.10 0.09 0.09 0.08 [E AR I 2B ] No122ZRivmi Z KR
128| ZAH  |MERERRESSD BODFI5T 78248 Etwo4a—LiR
1m 0.09 0.08 0.09 0.07 [EEZ] &L
) X 50cm 0.12 0.12 0.10 0.10
129| ZAH  |MERERRESSD HARELSD 78248 [EEE] &L
1m 0.11 0.12 0.10 0.10
) X X 50cm 0.15 0.13 0.11 0.11
130| ZAMH  |HMERERRESST VEHLYITT 782580 [EREE] &L
1m 0.15 0.13 0.11 0.12
_ it e s 50cm 0.0 0.06 S A O EKEMEL 8, KEDH AR
131 ZAH  |RERERRESST R#HEYHSD 78248 - 008 008 [ERE= ] &L
. ) ) ) 50cm 0.09 0.09 0.09 0.08
132| =AM |MRERFELEE HELFELRE (RELARE) 78298 [EREE] &L
1m 0.09 0.09 0.08 0.08
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No. | ilTH 5 MRS aH BE mmme AR =M (- 4BOF191H) %
45E F16[E 45E F16E 45E #E16MH
~ R . 50cm 0.13 0.13 0.06 0.08
133 AT |[REETELEE | BEELLSTELRE(KTARE) | 7A258 [ERES] ®L
1m 0.14 0.13 0.07 0.07
_ R R 50cm 0.12 0.12 0.09 0.09
134 2R [MEETLOLRE  |[TELTOLRE (BEARE) 7A298 [ERES] ®L
im 0.10 0.12 0.08 0.10
50cm 0.07 0.06 0.10 0.10 N
135\ =&t |zo WEREFIEEENTEND] | 78248 Bt A O ERBIAELM =6, KED A5
im 0.07 0.06 0.10 0.09
B 50cm 0.08 0.09 0.06 0.09
136\ =&t |zo R B - A E(E 1A 258 [ERES] ®L
im 0.07 0.09 0.07 0.08
_ e 1 v 2 e $ e 2 50cm 007 0.07 B A O EKEIASEL = . ZRID A BT
137|ZARMH  |[Z0f EEREMXEBERAE 78248 - g pps [ERE= ] &L
50cm 0.10 0.12 0.08 0.09 0.10 0.10
138|=A&#H |20t EEREMXBEEERITENSIL | 7H248
im 0.10 0.11 0.09 0.10 0.10 0.10
=@ — e - 50 0.09 0.10 0.10 0.10
130|= &b |zo Eﬁﬁ*‘ﬁ%ﬂ*’“ ER Dekita =& | ;o9 [ 7 [ERES] ®L
X im 0.09 0.10 0.10 0.10
50cm 0.12 0.12 0.13 0.12
140\ =Kt |z BADYN—ERBETA 1A 258 [ERES] ®L
im 0.12 0.13 0.13 0.13
50cm 0.10 0.09 0.07 0.06
14|zt |20 BERERXIEEEFMTENAI | TA24E [ERES] ®L
im 0.08 0.08 0.08 0.07
50cm 0.08 0.07 0.08 0.08
142| =&t |20k RhbYA—k T 7R 298 [ERES] ®L
im 0.08 0.09 0.08 0.08
50cm 0.13 0.14 0.07 0.07
143 =Kkt |z WRREFAH—ER HOIEE 7A258 [ERES] ®L
im 0.13 0.13 0.07 0.07
50cm 0.09 0.09 0.08 0.08 0.13 0.13
144 =Kt |Zod BERERTIEEEN 7A298
im 0.09 0.09 0.09 0.08 0.13 0.13
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5E #E16ME 5E #E16MH 5E %16[E
B 50cm 0.11 0.09 0.08 0.09
145Kt |Zo0M #E BEH R TESEROEDY | 18258 [EES] ®L
1m 0.11 0.09 0.08 0.09
B 50cm 0.11 0.11 0.08 0.10 0.11 0.12
146\ =&t |z B EEETTOT 7R 258
im 0.11 0.11 0.08 0.10 0.11 0.12
=@ 4 — e oo — 50cm 0.21 0.10 0.08 0.09
47|zt |20 iﬁ‘fg’”” ER D4ZX-21—=| 1 05g [ERES] ®L
L im 0.16 0.10 0.08 0.08
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